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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. odemel gdvey 3199 93 U5 W AHG 3farEd: fad |

Candidate must write first his / her Roll No. on the question paper

compulsorily.

2. T TA & fet 9 IS wUR § fRdt yeR @t 3fe / o / fadenae g
TR fe=t 91 & I¥ 0 W1 AN |

If there is any error / difference / contradiction in Hindi & English

versions of the question paper, the question of Hindi version

should be treated valid.
3. [ YW KA Al € | I wHiE 23 H e fahed § |

All questions are compulsory. Question No. 23 has internal choice.
4. YIS I H IW & T8 SW-YRen | g fag |

Write the answer to each question in the given answer-book only.
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5. 59 7% % & 9§ e 9AM i arel Wi ¥, 39 9 9Fl @ B9 T iy
Haq fod |
For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in continuity.

6. U HEN 29 11 T A ALAUTH ¢ |

Question Nos. 2 to 11 are very short answer type questions.

7. SW-YfEd & T & o iR fafaw | afe w1 7w T 7, o S
gfaew & sifm g=f WM A 3R T st oAl 9 #e R I¥ W
YT wE SifRd T |

Write on both sides of the pages of answer-book. If any rough
work is to be done, do it on the last pages of the answer-book.
Write the word "Rough Work" by crossing it with slant lines.

8. UW HH® 1% IR WM (i, if, ili I iv ) T | T&H WM &% IW &% =N
faweas (A B, cTd D) ¥ | 9t fakeu &1 IT0eR SW-qiast |
fT=TIER difetehl SR fod .

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as

mentioned below :

q¥ HHIE HE I HT HATET
Question No Correct letter of
) the Answer

1. (1)

1. (ii)

1. (iii)

1. (iv)
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1. () I A=
A) 2A
C A
If A=
A) 2A
C A
X
i 3fg
2
A 2
C) 6
X
If
2
Aa 2
C 6

(B)

(D)

0O O then A ? is

(B)
(D)

=0Fﬁx:y FAE T

(B)

(D)

=0 then x :y is
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(D)
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(i) TH T 200 T 5HE T 991 T&MH 7 x T 4 A€ d% =1% | I T A

I | A R e €, @ ox wEE T

(A) 500

(C) 250

(B)

(D)
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Ram grazed 200 cows for 5 months and Shyam grazed x cows
for 4 months. If Ram paid double rent than Shyam then the

value of x is

(A) 500 B) 375

(C) 250 (D) 125. %

(iv) TH S TH THEHH 3 : 270 faueH d g 9er € | o fhee =i
el # L feel % fom waw 39 ¥ 1 wger w1 el e fasem st

g
(A) 6:9:5 B) 9:5:4
) 9:6:5 D) 9:5:6.

Ram and Shyam are partners dividing profit in 3 : 2. They admit

Kishan for % th share of profit. New profit sharing ratio of the

partners is

(A) 6:9:5 B) 9:5:4
© 9:6:5 (D) 9:5:6. =
1 3 3
2. AACA=|[1 4 3| @ |A| 9@ HfTC |
1 3 4
1 3 3
fa=1]11 4 3 then find |A]. 1
1 3 4
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3. AA=|4 5 6| TAMB5A+20=x T x & AA faf@u |

If A= 4 5 6 and 5A + 20 = x, then write the value of x. 1

4. fod st &1 yAM fa=ged 20-5 T AL 60 B, A IHHRI YA fa=ed o

Jd HifeT |

The standard deviation is 20-5 and mean is 60 of a distribution. Find

coefficient of standard deviation. 1

5. dfc Yewwry UH 0-6 § TN U ITHI I @A 100 ¥, A AU F GG

T[uTish ST GHY fayw 1 HIfS |

If coefficient of correlation is 0-6 and number of pairs is 100, then

find standard error of coefficient of correlation of universe. 1

6. T 9™ &l Theh 9 W 3T W Gk AM ] FIfTehdl Jd Sifad |

A dice is thrown. Find the probability that the number is even. 1
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7. HIET 3R Tfde 7 HHW: 3,600 To 3T 4,800 To THMHT AT YFY foham |
Higd Gfshd TPER T & HRU ol a1 H1 10% A<D Ja wiar § | afg ad

% 3T H $A ¥ 3,500 To T Al WG 1 Al ¥ G HieC |

Mohan and Govind started a business investing Rs. 3,600 and
Rs. 4,800 respectively. Mohan gets 10% extra of the total profit being
active partner. If at the end of the year total profit is Rs. 3,500, then

find the total profit of Mohan. 1

8. TN A THh @ To &l Yol TMH Th had! g | 3 HIE ¥ Wb off
It g gS TR WIERR o9 A1 | afe 96 % o7 § 18,270 To H YF AW

BT €I, T STWMh 1 Y I HifaT |

Ashok started a factory investing a capital of Rs. One lac. After
3 months Prateek joined investing the same capital as Ashok. If at the
end of the year, the net profit is Rs. 18,270, then find the profit of

Ashok. 1
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9.

10.

11.

12.

7
IEMN A 200 I 10 Fo THYTA & 13 Fo Ui 39 & feaa & @l | Iwyol dig

H v A Fdt fohaa o7 o foran iR 9 wmea @ fa sifes © 2

Shabana purchased 200 shares of face value Rs. 10 at the rate of
Rs. 13 per share. How much money did Shabana invested in the

whole transaction and by how much is it more than face value ? 1

15% UUS, 100 To &1 75 Fo YT W ITaed § | Ffaer arfiier afRenst st
MO HIST |

15% debentures of face value Rs. 100 are available for Rs. 75.

Calculate the profit per cent per annum. 1

ThY 7 8% Wik H 84 To W ( 1 %o TaATl ), 1,70,000 To k1 fafqam
T | Tehw & fafram o anftes 3ma 91d shifsa |

Rakesh invested Rs. 1,70,000 in 8% stock at Rs. 84 ( Brokerage

Re. 1). Find Rakesh’s annual income from his investment. 1

T A g0 Icaifed U= &t 12 — 12 & T i = &1 15 | e faam
RO 50 A H Ik @S Ul i G&A S ¢ | Ifd T H '@ g &
Ak fo=rer Jrd i

12%=mﬁﬁwﬁﬁaﬂ o ) 9 3 A 5
&

AT St & 18 | 19 9 3 1 0
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The samples of 12 - 12 screws, produced by a machine, are
examined. Following distribution table shows the number of defective

screws of 50 samples. Find standard deviation of defective screws in

every sample : 3
No. of defective screws in 0 1 9 3 4 5
a sample of 12
No. of samples 18 19 9 3 1 0]

fa o [aWa

13. TrAfafea siewsi 9 x qen y S & Aea qgawry Ulie J1d ST

SO x Suft y
el Tt & 8 8
e 9 famremi & a9t &1 9 36 44

x TN y ST & A fo=el o TUHEwa! S A9 = 24,

Find the coefficient of correlation between x and y series from the

following data :

Series x Series y
No. of items 8 8
Sum of squares of deviation from mean 36 44
Sum of product of mean deviations of x and y series = 24. 3
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14.

15.

9

—

ATE BgN W=l &9 4 fordl 99&n & g i &) GIfTehdl FAY: = 9 = © |

W=

2
gfe SH &€ T ®9 F T & & HL H TS B dl FFehal J1d wifeg fw
() 99 & B S

(i) STH 9 3 hIs Th, IS hl & H < |

Probabilities of solving a specific problem independently by A and B

1
are and % respectively. If both try to solve the problem

independently, find the probability that
(i) the problem can be solved

(ii) exactly one of them can solve the problem. 3

STfq a0 e 3 A Y 1 HA: aﬁt%ﬂmﬁamﬁwaﬁ‘{@ﬂﬂm

1
3
foToT = @ | 15,600 To T A I A HY A foh 3K IR Yol ok UE H
A1 UTE B ?

Amit and Sohan invested % and % part of the total capital

respectively, and Shipra the rest. How should they divide a profit of
Rs. 15,600, if they have to share the profit in the ratio of their

capital ? 3
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16. A, B3R CH UERA & | A 7 FHd i & % AN & Sefh BY A9 C

ST o AN & SER 9T T | 99 ok 3 H 840 Fo T @Y g3 | UAH HI

ST Jd HINT |

1
A, B and C enter into a partnership. A contributes 3 of the capital,

while B contributes as much as A and C together contribute. If the
profit at the end of the year amounts to Rs. 840, find the profit share

of each. 3

17. 7 %8 & few & 2,250 o gfaead waM & fau 15% woras, fSaeh sifed

T 100 To TAT S 4% NfHTT W IUa=Y ], Wledt § | 9fg 3 saelt & 1%

IHM TS @ Fat 39 fohat Tfdr fHaw & 9St |

Geeta invests some money and purchases 15% debentures of face
value Rs. 100 which is available at 4% premium, to earn Rs. 2,250
per year. If she has to pay 1% brokerage, find the capital which she

has to invest. 3
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AT 3A - 2B + C TH YA Higa™

4 2 -2 1

If A = , B = and 3A - 2B + C is a zero
1 3 3 2

matrix then find matrix C. 4

19. U @il & UG ek, @8 o AT i AHS! HEW: 90, 80T 50 BT T | A T
% T 31, 8 9 U1 i Ahel AN 2, 19 1 hic 991 Ba&] & faq %o

1,29 1 hic Thel i ToRThdl § | 9fc A foIhd qod 48 o a1 B &1

fosha g 40 Fo Ufd T B, @ Afehan o U w1 & fore 5w Yasw gome

HHE T O T hifsd |

A carpenter has 90, 80 and 50 running feet respectively of teak,
plywood and rosewood. The product A requires 2, 1 and
1 running feet and product B requires 1, 2 and 1 running feet of teak,
plywood and rosewood respectively. If A would be sold for Rs. 48 and
B would be sold for Rs. 40 per unit, to get maximum income, write
the mathematical formulation of this linear programming problem. 4
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20. fr=fafeaa Yas T gae &t e fafy 3 g sify .

Afyshan Z = 5x + 3y

gider 3x + 5y < 15
5x + 2y < 10

qaar x, y=0.

Solve the following linear programming problem by graphical method :

Maximize Z = bx + 3y
subject to 3x + by = 15
5x + 2y < 10

and x, y=0.

21. AR BAYNSI & 12T @, IS0 4 A7 6T Siid 91 2 @ s @& |

A 9 3 @A 3 W k1 gHeial fwan | Iifgehdl I hifST STelfen,
() A¥ T Ed Sid
(i) T T R B

(i) A d B UHR vy ¥ S |
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A and B played 12 games of chess, out of which A won 6 games and
2 games are equal ( draw ). They both decided to play 3 more games.

Find the probability when

(i) A wins all the three games

(ii) two games are equal ( draw )

(ili) A and B win alternately. 4

22. HH-9 THa 31fus evge § 3R fohaT — 15% B9 8% WfHaH W 3@

14% TS 4% fe@nee | ?

Which investment is more profitable and how much —

15% debentures at 8% premium or 14% debentures at 4% discount ?

4
1 -2 0
23. Ak A=[2 1 3| @ WA-! I@HNT | A~ H FHA H
0 -2 1
Tr=fafaa et e =1 g S :
x-2y = 10

2x +y +3z =8

-2y+z=1717.

3T
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& frm 9 feafataad gt g =1 g J19 Sifse

2x -3y =1

x+3z=11

X+2y+z=1717.

1 -2 0
If A= | 2 1 3 then find A-! . Solve the following system
0 -2 1

of equations with the help of A~ ! :

x—-2y = 10

2x +y + 3z =8

-2y+z="17.

OR

Find the solution of the following system of equations by Cramer’s

rule :
2x -3y =1
x+3z=11
X+2y+z="17. 5
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24. 99, fasa 3R ¥9@ 7 T MR § Fd 87,000 To &t ISt TME | AR 39

F fasa A 150 To 31 AR faom &1 @ ¥ 250 To 31k @y fyen 7
AN ol NN 2,900 Fo T B, @ A h GRI ME TE SN SFerI- A T

IS |

Ajay, Vijay and Sanjay invested Rs. 87,000 altogether in a business. If
Ajay gets Rs. 150 more profit than Vijay, Vijay gets Rs. 250 more
profit than Sanjay and total profit is Rs. 2,900, then find the capitals

invested by them separately. 5
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